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1. Introduction

In TS 36.133 [1] in section 5 the handover requirements are being currently specified for user mobility in RRC_CONNECTED mode from E-UTRAN to E-UTRAN and from E-UTRAN to other 3GPP radio access technolgies namely: GSM and UTRAN. 

In the same way handover requirements for user mobility in RRC_CONNECTED mode from E-UTRAN to HRPD and/or to cdma2000 1X needs to be specified to ensure proper connected mode mobility between E-UTRAN and HRPD/cdma2000 1X technolgies.

Since HRPD and cdma2000 1X are synchronous systems therefore if necessary the eNode B should be able to directly command soft handover towards HRPD or cdma2000 1X.

2. References


[1] 3GPP TS 36.133, “Evolved Universal Terrestrial Radio Access (E-UTRA); Requirements for support of radio resource management”.  
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--------------------------------------------NEXT CHANGED SECTION---------------------------------------------
5.x
Handover to Non-3GPP RATs

5.x.1
E-UTRAN – HRPD Handover

5.x.1.1
Introduction
The handover procedure from E-UTRAN to HRPD is initiated when E-UTRAN sends handover command to the UE through dedicated RRC signalling.

5.x.1.1.1
Handover delay

The handover delay (Dhandover) is defined as the sum of the RRC procedure delay, which is defined in TS 36.331 in section [TBD] and the interruption time specified in section 5.x.1.1.2.

When the UE receives a RRC message implying handover to HRPD, the UE shall be ready to start the transmission of the new reverse control channel in HRPD within Dhandover from the end of the last E-UTRAN TTI containing the RRC command.

5.x.1.1.2
Interruption time

The interruption time, i.e. the time between the last TTI containing a transport block on the E-UTRAN PDSCH and the time the UE starts transmission of the reverse control channel in HRPD depends on whether the target cell is known to the UE or not. 

An HRPD cell is known if it has been measured by the UE during the last [5] seconds otherwise it is unknown. The interruption time shall be less than Tinterrupt

Tinterrupt = TIU + [TBD]*KC+[TBD]*OC ms
Where:

TIU
It is the interruption uncertainty when changing the timing from the E-UTRAN to the new HRPD cell. TIU can be up to one HRPD frame (26.66 ms).
KC 
It is the number of known target HRPD cells in the message, and

OC 
It is the number of unknown target HRPD cells in the message.
Note: An additional delay in the interruption time may occur due to the silence time, which is specific to HRPD. 
5.x.2
E-UTRAN – cdma2000 1X Handover

5.x.2.1
Introduction
The handover procedure from E-UTRAN to cdma2000 1X is initiated when E-UTRAN sends handover command to the UE through dedicated RRC signalling.

5.x.2.1.1
Handover delay

The handover delay (Dhandover) is defined as the sum of the RRC procedure delay, which is defined in TS 36.331 in section [TBD] and the interruption time specified in section 5.x.2.1.2.

When the UE receives a RRC message implying handover to cdma2000 1X, the UE shall be ready to start the transmission of the new reverse control channel in cdma2000 1X within Dhandover from the end of the last E-UTRAN TTI containing the RRC command.

5.x.2.1.2
Interruption time

The interruption time, i.e. the time between the last TTI containing a transport block on the E-UTRAN PDSCH and the time the UE starts transmission of the reverse control channel in cdma2000 1X depends on whether the target cell is known to the UE or not. 
A cdma2000 1X cell is known if it has been measured by the UE during the last [5] seconds otherwise it is unknown. In this case the interruption time shall be less than Tinterrupt:

Tinterrupt = TIU + [TBD]*KC+[TBD]*OC ms

Where:

TIU
It is the interruption uncertainty when changing the timing from the E-UTRAN to the new cdma2000 1X cell. TIU can be up to one cdma2000 1X frame (20 ms).
KC 
It is the number of known target cdma2000 1X cells in the message, and

OC 
It is the number of unknown target cdma2000 1X cells in the message.
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